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A. Consistency(—&4)

B. Durablity(Zk Af:) .

C. Isolation(FEaEkt)

D. Atomicity (BETH)
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1. Trace the following program code, and fill (a) and (b)
void Main()

{
int i=0;
Console.WritelLine(++i); //--- output(a)
for(;i<99;i++){
} .
_ Console.WriteLine(i++); //--- output(b)
}

line console are (a) and (b)

2. Trace the following program code, and fill (c)
int MyFunction(int a, int b)
{
int Remainder;
while( b =90 )
{
Remainder = a % b;
a = b;
b = Remainder;
}

return a;

}

—
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When we pass two parameters a=16888 and b=888 to the function MyFunction, that is
“MyFunction(16888,888)”, the return value of MyFunction(16888,888) is (c)

Compiling the above code and executing the program in the command line, the two outputs of command
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3. Trace the following phogram code, and fill the (d),(e) and (F)
void Main()

{
inta=16, b=5, c=17;
Console.WriteLine(a|b); //--- output (d)
Console.WriteLine(a&c); //--- output (e)
Console.WriteLine(b~c); //--- output (F)
}

Compiling the above code and executing the program in the command line, the three outputs of command

line console are (d), (e) and (f)

'4.There are 3 table of couse system, according to the table schemgj_pléése fill
iand (3j)

the (g),(h), (i)

| TABLE : STUDENT TABLE : COURSE
BTN | ERER Bk BRTE | BRI A
Sid Int Primary Key it
Sno char(10) B2aR Cid BigInt Primary Key
Name nvarchar(10) BLLE Courseld char(10) 1 sk A EREE

| Age Int B ' Name nvarchar(3@) il
Sex char(1) 4R Teacher nvarchar(10) LIS
Grade char(1) BEELG

TABLE:SELECTION

BEHTAE | EREIRR B
id BigInt Primary Key
Sno Int Bk
Courseld BigInt EReE
Semester varchar(10) EHA
Score Int S8
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4.1 HEHG—PRREYR R 90 HIFAEE 5 FHIEIELL - Table Schema -
S AGEEY SQU EARY THL SQL 5 -
SELECT Courseld, (g) FROM SELECTION WHERE (h)

4.2 FHEHIERERSE R 1IM10001 - B 10701 ST s ARATE SR AR - SQL 5B7AR
SELECT (i) FROM SELECTION WHERE CourseId=’IIM10001’ AND Semester="10701’
SELECT T AMEER SOL FEA (T 1-4 Efta2 » FATHEAEE SOL sBANERSET)
1.COUNT(*)

2. MAX(*)

3. SUM(*)

4.MIN(*)

4.3 EEERT  BAELTIS O REHSE 0 SOL EAR

SELECT (i) FROM SELECTION WHERE CourseId=’IIM106601° AND Semester="10701
SELECT BFREAfIEER SQL EEA(MT 1-4 e » BETHEAEE SQLBARERET)
11.COUNT (Score)

2.MAX(Score)

3.SUM(Score)

4.MIN(Score)
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IO~ What is “Green Conﬁbuting” and Why “Green Computihg" is important for us tbday?
(10%)

7 ~ Explain what are EA? (10 points)

‘7*? . What are Management Information Systems (MIS) from a business firm’s perspective?
(10 points)

1= - Define and differentiate the following terms (5 points for each)

Information Technology vs. Information Systems
Data base vs. DBMS

Big data vs. Data Mining

Data Warehouse vs. Data Mart
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